ddigkol 3olskl #eEl &

o

o] A

® 371 @ 470 ® 571 @ 67N @7711

Adigho] 3ols81Ql A4+ F A= -3, -2, -1,0, 1, 2, 3

olct,




5234l 7 5 s R,
. B 2 S o o]tk
2
3
-3 -2 -1f0 1 2 3

NI




AFonE A7} 59 5 5 Aol o] Ael?

O -10 @ -5 ® 0 @ 5 ®)10

(AHORHE A7} 59 ) = (BRG] 59 &) - =5, +5

-5 9F +5 Afo] 2] A= 10 o]t




U S AL 23 7P 2 A2

@ (+4) + (+5) @ (-6)+ (-1) ® (+3) + (+5)
@ (=7)+ (-5) @(+3) + (+7)
B

@ (+4) + (+5) = +9

@ (-6) + (-1) = -7

® (+3) + (+5) = +8

@ (-7)+ (-5) = -12

® (+3) + (+7) = +10




=

% 5419 AgPE Aol kA A8 22

oo

@ {A+(-B)}+C=A+{B+C}
@(A+B)+(—C) =A+{B+(-0)}
® A-(B+C)=(A-B)+C

@® A+B+C=A+C+B

® A+ (-B)+C=C+(-B)+A

B

@ {A+(-B)} +C=A+{(-B)+C}
@A-B+C)=(A-B)-C = ®Wio] Z3H AJA=
A o] J-stA =

@A+B+C=A+C+B = nggzo|r},

@A+ (-B)+C=C+(-B)+ A = w&Hojc},




6. o= A AP 2 A2?

@D (+15) - (-12) @) (+13) - (=30) ® (-31) - (-12)
@ (-3) - (-20) ® (+7) - (-21)

® +27
@ +43
® -19
@ +17
® +28
uweha] @o]tt.




0 [}
0 =+ | —
™ I T
| I I I
I o o !
—~
—~ 0 | | =
P N
— ™ o
— — — — &/
ST +  + I
| | —_ -
LN _ T
+ + - 1 _
—~~ —~~ ~ 10 )
<ff © — e ~|(T
Lz = T T
L+ o X
D T o &8 ™
+ £+ .

(+5) + (-4) + (=9) - (=7)

>
=L
I+
+ &
S =
b
+ =
— D~
T L
T+
~ s
FRy
ol

-1

(+12) + (-13) =




& % voix) gt o s

® 2-3-4 @ -3-(+5) + (+3)
® (=6) + (+7) — (+6) @ -11+10-4
@(+4)— (-2)-9




9. x7}-1HEg 393 2 Fpo|t} x, -x, -39 d& PAS
=7 3@ A-27

D x<-x<-3 @ -3<x<-—x ® x<-3<-x

1RO 3R AL Sk 1-(-3)=20lh FHx=2, —x=
-2, o]B2 3 < -—x<uxoO|Ch







11. o3 3 A AHgote] el 2oz 27

o
e A

© 50 22 283 <7 72

: 50)6—‘.}_
@ 7tz dol7kacm , Al22] Ao)7} bem Q1 AARZY
: 2(a+b) cm

® lm 2] 218 Al akm o]

—%EE@

gl =
8oz AS of A9 A7t
a
@57H°1]y%?lx}3’—}17]194%k: §%
’ y
® am + bem : (100a + b) cm

@y+5=

(S

2



12. o5 F 718 x, + & ARgste] el Zle = &2 ¢ 227
2y
@ 5ab=5xaxb @ Z=2+xxy
3 2
=0 b =2+x-
a+b 3+ (atb) @x—y X=y
2b
© =2xb+(a+c)

a+c




13. 5 7ol a ¥ Sh= AFRE 100 7] Sttt oldf, A EalioF & S8 Lt
Q172
20
2] 9 2]
@® 5’16(1)0‘_ ) — 4 @2061 el
@ 7 ‘?’_ @ 500a ‘c')(_

5 ol a Y3l AV 1 A o) ghe g Yooz

Atk 100 7] 9] e g x 100 = 20a ()




14. o5 7] 5 @42 B I8 227
H7]
Q a © 3x+b © -3
@ 5a+5 ® -1

pe.,0 @6 006 ®6.© 660

B

o] A4E=1 A
@9 M4+= 2 itk
o] M= 1 7k

@)
©
G)
® FY M= 2 At
G)
w}

16 1o 1o

A 2 e
= B34 @, © ol




® 0.2x2+x

@ 2wt grd gons YAl o,
® 0.2x2 — o|A}4]
® 1+ 2 5 xh e gona Aol o,




